3|TV+V+0:2QO3—]T1‘-&|‘ oxo=%00dIV—0=7?

a) 19 b) %% c) 89 d) €3
fV + V+0=120&0 X0 =100 thenV —0 =?
a) 15 b) 110 c) 45 d) 65

¢R B &A1 VAT g&ar Regra &2y fogre.

Roman numeral equivalent to hindu arabic 89 is .............
a) LXIL b) IXC c) XIC d) LXXIX

Sl @ gadl AT Qreiel Uehr fashl STRRICH THUT Qo Hishole Tdehel. Baflel SiiTUa
g Aishole fAael. T Al fordl dihreled Fhear?
a) 3o b) o c) ¥& d) 3

Jenny and henry sold together 90 chocolates during a sales promotion.  Henry sold twice as

many chocolates than Jenny. How many chocolates did Jenny sell?
a) 30 b) 60 c) 46 d) 43

RRYE XIX o =7

a) £,¢¥,80 b) £,¢0,830 c) 2¢,¥% d) 0
9,246 X2 x 10 =72
a) 184,920 b) 180,930 c) 18492 d) 0

e¢ o W%m fhdr?

a) ¥ b) & Cc) L d) ¢
How many divisors of 187?
a)4 b) 6 )7 d) 8

T HeATell 0 AT & IATFATY 3 FHeAAT qrevAraTST foheh folex g amer?

a) ¥ b) & Cc) L d) ¢
If one student is given 200 ml of milk, then How many liters of milk is required for 5 students?
a)4 b) 6 c)7 d)8

23 theld{T 00¢ K YhdR BIAT R T ARGATT HIVIAT IR 9T Il IcAl?

a) EAR b) LUshaR c) faar d) ITdr ATEr
On 15 February 2008 it was Friday. In the same month, Which day will come five times.
a) Thursday b) Friday c) Saturday d) None of these




10.

11.

12.

13.

14.

S 8Y3C, ¢33, YCLE, ¥¢¥ TEAT 3acAT ShATer ATSeIATH 3 T 9 ¥ 2T T&AAT Blh
Tohdr?
a) Y& b) {4R c) Y& d) 3%

If the numbers 5438, 5835, 4876, 4842 are arranged in descending order then what will be the
difference between the third and fourth numbers.

a) 596 b) 959 ¢) 562 d) 34
g¢¢ + [] = tooo, @ [J =7

a) 832 b) 82 c) ¥R d) 583

588 +[] =1000; then[] =7

a) 421 b) 422 c) 412 d) 512

oy FHI. ATEIE AR ¢ TSRO FAE HART HIel T Fedsh JehsT fehcll HTL ofielrar gsel?

a) Y& b) &¢ c) &3 d) ¥
If a 504 m long wire is cut in 8 equal parts. What is the length of each part in meter.
a) 56 b) 68 c) 63 d) 54

TETH TSIR™IT TSTHTAT PIOTAT?

a) @I b) feaqX c) Rretar ) REGELS
What is the capital of the state of Assam?
a) Guwahati b) Dispur c) Shillong d) Itanagar

b3S IT FEAT fohdl ABaca e o QW HT ISer?

a) b) 3 s d) <
Which number should be added to 75345. So that the number is exactly divisible by 9?
a)2 b) 3 c)5 d) 8

JATST ALY’ FGUIA HIVIA AR Wl STd?

a) EI?Tq‘\T b) 3'||€|qu C) saqg d)TI'CI'CI'\T
Which city is known as ‘Pink City’?

a) Jaipur b) Jodhpur c) Idpur d) Raypur
Sed T oo A

a) & b) ¥ ) ¥ d) T AT

a) il b) — c) — D) None of these
9




15.

16.

17.

18.

19.

20.

ITATHATC HISIET TSET I HIOTAT YO JHEG YT 3HT8?
a) s b) R c) u RN Fer  d) oRIE

Which Animal is the main attraction in Assam’s Kaziranga national park?

a) Zebra b) Lion c¢) Rhinoceros d) Giraffe

Gleltel Yehr 10T &TATciTel caadIfAeh I0Tae IRETT HIdTd?

a) 9gelc b) dRFCHA c) gehrel d) Tt 9T @9
In which job the professional wears the uniform?

a) Pilot b) Postman c) lawyer d) All of these
dgTaR AIErEUIRT 9fgell HTOE HroT?

a) TH AT b) FeUsll TEel  c) wiel AT d) I TaIRA
Who was the first man to step on the moon?

a) Rakesh Sharma b) Kalpna Chawla c) Neil Armstorng d) Yuri Gagarin

.............. o AT orar aviqdl SfAshaEre Mmsedn ddedr aeedar d YA

gra?

a) Al gars b) T c) JesT d) @sHh
.................. is formed from trees and other plants which died millions of years ago.
a) Sand stone b) Coal c) Granite d) Slate

oflel ToodTedT AEhIdrST .............. 8T el TaEd ATgcehral TehR 37Tg.
a) gars dlgdes b) HgTATT c) Yod aATEdsH d) STerarge
Which is the cheapest means of transport for long route.

a) Air Transport b) Road Transport c¢) Rail Transport d) Sea Transport
FEFATAT VHAD oovvenn e JorarT ga?

a) g4 b) greT c) 3meT d) &hre]
Extreme cold causes loss of ................ Crop.

a) Orange b) Grapes ¢) Mango d) Nuts




21.

22.

23.

24,

25.

26.

AT AIErETSr el IR «AT61?

a) faarr b) gdr c) urofy d) 3feeT
What is not needed for the growth of living things?

a) Shelter b) Air c) Water d) Food
SIEATY 3feeT HAPISTAT ... greae Sd.

a) Pelld b) dTAT c) ¢ord d) Hosld
Extra food is stored in the ................... of a cauliflower.

a) Flower b) Leaf c) Stem d) Root
gedeaT AT Tehl BT SAETOMAT dboll ... FEUTATC.
a) lgaw b) 3TaasT c) Afgar d) ay
The Time that the earth takes to revolve around the sun is called a .............. .
a) Day b) Weekly c) Month d) Year

Grelloldhl M f@3d Tl 3 Fgordrd?
a) e, b) =TeT ¢) UNSEIGS ) GrESeTGST

Which of the following is known as Green Gold?

a) Tobacco b) Tea ¢) Grain Production d) Grapes Production

HR JURIF HYowT STl HIOTCAT THT?

a) 29L¢ b) £]uY c) 9]¢y d) ¢.¢o

The India became an atomic country in ...............

a) 1971 b) 1974 c) 1984 d) 1980

AT R TG ITARIhT AT § ollg ITIUTH HIUTedT Heauerdicls FRIT

YA A aehd?

a) A g A b) g&r & gume yerd

c) fe<ar &rsidrel d) SeIe g HIee

Our body needs minerals. Which of the following food items provides these minerals in large
quantity?

a) Meat and Fishes b) Milk and Milk Products

c) Green vegetables d) Potato and Sago




27.

28.

29.

Gl g™ FaTd #AlS Teheh HIUTA?
a) & b) freiata c) A d) Rrdee

Which of this units of weights is the largest?
a) Ton b) Kilogram c) Gram d) Quintal

TSIl T 3Thcd HEY RN F TSI IHAeAT FEgr ST fohcdr?

e

a) R b) ¢ c) & d) ¥

What is the sum of the numbers in triangle and circle in the given venn diagram

RN

a)?2 b) 8 c)6 d) 4

Grellel TR dfgedr gerar ga=ar yenrll St §aer 311 397eT oard deer foa=ar
Uerar aiear genielt § oefd 83« U eerear Sreft AUIRT 9T e,

?2:3::% :¥%

a) 2% b) £ c) ¢¢ d) 29

In the question below, the first and second terms have a specific relationship. The same
relationship occurs between the third and fourth terms. Which term will replace the question
mark?

?:3:48:4

a) 26 b) 12 c) 18 d) 15




30. * 7 Regrear aely Jumdy g qq‘lﬂlq\o‘i QIVeIT.

AR WARNWAR
NE N NG,

a) 9 b) sy c) 83 d) 9

Find the number at the place of ¥ mark?

AR WARNLIR
U AN

a) 26 b) 12 c) 18 d) 15

31. S GO = ¥,BIG = ], BULL= ¢& a¥ CROWN = f&dr?
a) 9 b) 3¢ c) ¢& d) ¥

If GO =4, BIG=9, BULL = 16 then CROWN =
a) 25 b) 36 c) 16 d) 49

32,  WTelidl A&7 ATd YRATdegedr SR & A5e1?
¢33, 93, 3bY, ?

a) 929 b) ¥¢s c) ¥’Y d) oy

In the given number pattern which number will occurs at the question mark?
a) 515 b) 485 c) 495 d) 505

33. g R0 TIT YolrHdTeh Teell ITAdR §IdT; d¥ Tleildl Yl HIoTedr adfi Joradres

et e gran?

a) 9%K%¢ b)gRR] C) %3 d) ¢_RY

Republic Day in the year 1997 fell on Sunday. In which year from the following it was on the
same day.

a) 1991 b) 1992 c) 1993 d) 1994

—



34.

35.

36.

37.

38.

a) o b) t¥ c) 3 d) 29

How many squares are there in the figure given below.
a) 12 b) 14 c) 13 d) 15

TehT T3l A Tehl Tehlehged 0T 31, HIFS 0T ifelel Tredm ALY R A
3Ted, o) 3ifderar e A fohdar 3mg?

a) ¢8R dr b) ¢ ar c) R dr d) ¢ dar

In a row, sayali is at the 20™ place from one end of the Sayli & Anil. What is Anil’s place in the
quege?

a) 19th b) 17th c) 215t d) 25th

GTolTTdehT HIUTAT & FIMAITAT IYARRIAT [ASd ATRI?
a) ardr b) &S c) IMeradr d) Hgrear

Which of the following rivers does not meet the bay of bengal?

a) Tapi b) Vaigai c) Godavari d) Mahanadi
Ao gAId fAds .

qrofY : forex : FHs : ?

a) gol b) #HeX c) gremy d) #T9T

Choose the correct option
Water : liter :: cloth : ?
a) Sale b) Meter c) Dress d) Scale

GTellel 3ThATed qe S0 TEIT AdTeT?
3, §o, ¢, W, 3, ....... ) ereeeens
a) ¥¢, 8¢ b) ¥¢, o c) ¥¢, o d) we¢, s

Find the missing term in the following number series
3,10,18,27,37, i ) eeeerrreeeereeeeenaes .
a) 48, 58 b) 48, 60 c) 48, 50 d) 48, 56




39.

40.

41.

GrelleT ATfereT quT aT?
ED, FC, GB, ?
a) HB b) HD c) HF d) HA

Complete the following series.
ED, FC, GB, ?
a) HB b) HD c) HF d) HA

AT FaTd AS g o TS HIoTa?
a) gag WIaX b) ek TR c) e Wax  d) ara TR

Name the largest fresh water lake in India?

a) Powai lake b) Wular lake c) Chilka lake d) Dal lake

Trellel W& 3MTehcllcl 3TRRATCHS TictAT el fedel & qaiely 3Mepcaiare Qe .
UR& 3Thcll

E

a) b) c) d)
Find the mirror image of the question figure from the option figures.
Question figure

E

Answer figure




42.

43,

Qrellel YR&AT ITETd T SHUMAT Thcil<m oI fAger.

Find the odd man out from the figures given in the question below.

I'd

a)

FGrellel MehcAAed fARIST JhRam el Mg, A NBYT YT Regredr sl

!

4—

I

b)

frontmsﬁw—cﬁmqtl‘rzrﬁaa.

TR 3Tl

K

34X 3TehcaT

c

*

a)

Koo

5

s

b)

!

L —

1

d)

PR
c)

Find the missing figure in the series given below.

Question figure

K

Answer figure

*

a)

Koo

£

oK

b)

X

——
o

d)

d)

—



44,

45.

46.

47.

48.

q¢ Teh se T feelell 3Mg cIeliel geahrar Hae qérel Yehl 0Tl Tehcl 398
del grEdd.
meaT, fAeTer |, fagardf.

a) . b) .: c) % d) I AT

Three words set is given below which of the given venn diagrams shows the relationship
among three sets perfectly.

School, Teacher, Student.

a) . b) . c) d) None of these

qélel Tehil AT A HIUTAT IHA?
A) SeuelsT B) 3@ C) @@ D) 3¢ E) Ho

N 9

a) ABCDE b) CBAED c) BCADE d) BCAED
What is the perfect sequence of the terms given below

A) Rainbow  B) Rain C) Sun D) Happiness E) Children

a) ABCDE b) CBAED c) BCADE d) BCAED

TRETITgreaT Sl Ay 9dy foage forgr.

geft : qcer : AT ?

a) qroft b) @eIqery c) ag d) wroTgsan
Find the word in the place of Question mark.

Bird : Kite :: Fish :?

a) water b) food c) smell d) Submarine

Trellel YT R[CY 2Ase; 3BT,
a) STHe b) 3Tl REGEET d) sferer

o BON [N

‘YT3eldre’ AT Asalciiel HENIEA alel 38T fohcl 319quT ereg TR giciler?

a) 3o b) &Td c) 9ra d) "ar

10
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49.

50.

51.

52.

53.

54,

55.

56.

57.

'hos AUl AT ATFIThRIAIST ‘had ‘ AsaTaT dHST YT FHII?

a) ager b) #rsoY

'TAT T A gAY erse fAgsT.

a) 3R b) waf

c) $IsoT

c) 99

fa. fa. ar |iered s quT §9 3.

a) faadr fadw  b) AW fa=idr

c) Tavg faadeT

d) 9reYraT

d) faadr fawr

SR Frellel I[Cd AT AT Ase FHGISeGe Teh Ase G fAasT?

a) 3= b) YUY
Sugar is sweet but lemoniis ............... .
a) Crook b) Fruit

Fill in the box with proper letter.

a)t b) c
Find out the odd pair.
a) Buy - Bought b) Catch - Caught

Fill in the blanks with proper article.
........... best book.
a)A b) An

c) Yellow

cb

c) Teach - Taught

c) The

d) Srrer

d) Sour

d)w

d) Sing - Saught

d) No articale

11
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58.

59.

60.

61.

62.

63.

64.

65.

Find out the correct opposite word.
Sharp
a) Blunt b) Dull c) Razor d) Clever

Fill in the blanks
Let's ... in the shade.
a) Hid b) Hide c) Is hiding d) Hides

Find out the contracted form of :
Must not

a) Mustn't b) Must c) Mus't d) Must's

Find out the correct word?

a) Vahecle b) Vehicle c) Vehecle d) Vahicle
GeITATA oo 3

a) el b) #XA=r DRIGEE] d) Imdehr ATEY.
The Sunderbanis a .............. forest ?

a) Thorn b) Tidal c) Coniferous d) None of these

............... SRIEY SredaT Jd1d.

a) & b) STer#TaT c) argHTe d) I AT
............... can be constructed on mountains?

a) Roadways b) Waterways c) Airways d) None of these

el SAfde gesh Hordar?

a) &I b) 3R c) eEgdr d) gar
Which of the following is a biotic factor?

a) Cloud b) Mountain c) Plant d) Air
HERTSSIATATS! fohadRaedIar ueer .............. qECT 318,

a) 3 - gfalor b)) qF - 9R@H ) 3 - qd d) IREH - N
Castel area of Maharashtrais .......ccceeuenuen.. Spreaded.

a) North-South b) East-West c) North-East d) West-North

12
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66.

67.

68.

69.

70.

71.

72.

HERISE AT ... Tt STl Tag FRUTRT olTstell 31e.

a) (oo b) ble C) boo
............... km is the length of the sea coast of Maharashtra.
a) 800 b) 720 c) 700

T § USE 3T HIoredm Toleedrd 318
I b) ARG

In which district is the Pench National Park?
a) Chandrapur

a) IaRW

a

C) oYY

BN

b) Amravati c) Nagpur

3rhrerr fStegard ¢ 3iifSureh faegd ahg 3me?

a) 9Tl b) IRH Cc) Udholgr
Which thermal Power Station is in Akola district?
a) Parali b) Paras c) Eklahare

GrellerdshT gRUTR 3ST GrereT HioTa?

a) SAENE b) FARIA c) Aafdie arg
Which of the following is a conventional energy resource?
a) Biogas b) Sunlight c) Naturalgas

Grolleldeh! HIUTT SITIRT A A7

b) FIH

BN

a) HT c) 3H

Which of the following crops is not a commercial crop?

a) Maize b) Cotton c) Sugarcane
gUST FHloledrdl FAATUROT el ............... 3R

a) goo fhaT b) 290 fohaT c) 2o fahaT
Normal length of Suez Canel is ....................

a) 100 km b) 150 km c) 170 km
HERTSE ST TATTAT .o .

a) ¢ # ¢R€o b) ¢ H 2R&R C) ¢ H 2REY

Maharashtra state established on ......cccceevvevenneee.. .
a) 1%t May 1960 b) 15t May 1962 c) 15t May 1964

13

d) Gondia

d) drelr

d) Chola

d) Tabacco

d) %o fohaT

d) 250 km

d) ¢ # $¢RES

d) 1°t May 1966

——
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73.

74.

75.

76.

77.

78.

79.

.............. iR SR HIHLY aTeq, Ahdld.

a) Yddre b) eftdeT c) et d) I
................... People increases the power of the nation?
a) Rich b) Unintelligent c) Healthy d) Poor

GrelTerdehl ol Adfie 3o 3me?

a) SIFESThIC b) g c) &arel d) SARA A0
Which of the following is a natural disaster?

a) Bomb blast b) Tsunami c) Riot d) Building Collapse
AR GIaem AT ............ ATRTHTST 3TEATT

a) IS b) #Fd c) 3=g d) |

Civic amenities are for ......cccuvuue..e. .

a) Poor b) Rich c) High d) All of these
fIaUIel I FRARTET .............. AT Aol dhelr gredr?

a) %o b) ¢ c) ¢ Cc) L

Shivaji divided the administration of his kingdom into .................. departments.

a) 10 b) 12 c)8 d)7

OIS A=A ol v el TSiaelr?

a) ¢&bo b) %&by C) ?&&& d) 2&&9

Mavlas won the fort “ Sinhgad’ in .....................

a) 1670 b) 1674 c) 1666 d) 1665

Reear dgld fRIeRmEmed Jerele ............. foheer quaTd el dhel?

a) W b) 33 c) N d) 3¢

Shivaji Maharaj agreed to handed over ................ Forts to the emperor.

a) 24 b) 23 c)21 d) 31

AT AGRISTAT 3 hAd@d AT dodl TBoTTE@ITdT dehlel hIuT BIdT?

a) dIE g b) fSrarsir #grer
C) FSUM TR FHolehvff d) gdreir ey

14
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80.

81.

82.

83.

84.

85.

..................... was the vakil of Afzalkhan at the time of meeting of Shivaji Maharaj with

Afazalkhan.

a) Kazi Hyder b) Jiva Mahala

c) Krushna Bhaskar Kulkarni

b) FeeTsa c) 3¢

Shahaji Raje was a scholar of ........................ .

a) Tamila b) Kannada b) Urdu

fSTSTTaTS=ar Hege TSHIOT Wrelleliehl IuTd?
a) 3RS b) RicuseT

Which of the following is a death place of Jijabai ?

c) urdas

a) Umarthe b) Shindkhedraja c¢) Pachad

fRIaT 9AF Ty ... qTgel <O Alerell Sad
a) & b) ST c) JEIr

Shivrai use to appoint officials on the basis of ...................

a) Religion b) Caste c) Merit

............ ar ﬁﬁ%ﬂ%ﬁ?ﬁ ST gidr?

a) delax b) gdr c) IMaBHIsT

................... Was the capital of kutubshah.

d) Pantaji Gopinath

d) Sanskrit

d) arearer

d) Wanvati

d) A

d) Richness

d) eI

d) Gulbarga

d) geufadrr

d) War Strategy

d) Hare

a) Tanzawar b) Hampi ¢) GovalKondha
R ARART .. STeleh HAlTel STd?
a) fiscard YREGIGIE] C) IRART
Shivaji is known as the father of Indian .............
a) Cavalry b) Politics c) Navy
FaTd d9rareT 9roft HIoTar?
a) FlBdlc b) gdor c) f=rar
Which is the fastest animal ?
a) Antelope b) Gazelle c) Cheetah

( )|

L » )



86.

87.

88.

89.

90.

HUFC &1 Jcd TPR ..o I TSI Teh ARER{deh d37ad g,

a) W& b) 3nf3am C) AW d) arffAe=rg
Kathakali dance is a cultural heritage of .........ccccevnenes State?
a) Kerala b) Orissa c) uttar Pradesh d) Tamilnadu

HRAT eI HISASS HAT 0T 3EcA?

a) FAXCIHAEY el b) FUAT TRTT
c) T O d) 37%UT STl
Who is the Human resource minister of India?

a) Murlimanohar Joshi b) Sushma Swaraj
¢) Smriti Irani d) Arun Jaitley

SEYTACY dTSTHgTeT SIUTAT A 35 ?

a) AYT b) Eeelr c) 3T d) ferers
In which city the world famous ‘Tajmahal’ is .......c.cccccu.......
a) Mathura b) Delhi c) Agra d) Aligarh

HRAT HTdolioleh ST Gald FASY 3rFUTNY S HIoTcT?
a) USE 1 g AT AR dh

b) Reia & 3w sfzar

c) V< I 30w 3T

d) AR HeAfas ahd dh

Which is the biggest public sector bank in India?
a) National Agriculture & Rural Development Bank
b) Reserve Bank of India

c) State Bank of India

d) Industrial Development Bank of India

FERISEIclel RINYY Geel et Giiee Srer?

a) 9o fAdsieT  b) HuOT c) GRHA d) W& o
Shirpur Pattern of Maharashtra is became famous for .................. .
a) Water Planning b) Malnutrition ¢) Good Governance d) Road Development
( ]
L )



91.

92.

93.

94.

95.

96.

Arasiiaeh RigsRd geard dd guH Hiof dHel?

a) HEICAT SilchaT Pl b) & IS &T&T
c) SI. SIaTHRS 3TEsH d) T ATY
Who started first public ‘Shiv Jayanti’

a) Mahatma Jyotiba Fule b) Saint Gadgebaba
c) Dr. Babasaheb Ambedkar d) None of these

IMITIT AT AT PIUTA?
a) 9IEHl § IMAT  b) YUl c) mar d) Has

What is the Gova’s capital city?

a) Vasco da Gama b) Panaji c) Goa d) Mumbai

AT PO TS HEST A

a) 3T T 3iT% sf3ar b) FHAT AgE UTh

c) Sfg s d) TRFAAR

Which of these place is not located in Mumbai?

a) The Gate way of India b) The Kamala Neharu Park
c¢) The Juhu Beach d) The Charminar

CRY & 3remaehry E2T (NGO) & e faevd: FlIvredr THATST Uchiardl SRiRd 31e?

a) Afgelr b) 39T DICIGED d) ARTEGIT
The non-Governmental organization (NGO) CRY specially works for ................ elements.
a) Women b) Disabled ¢) Children d) Backward

HRATAT gigell Al Iod HIOTT I YTl ?

a) feoelr b) HeS c) deals d) shrerendl
In which city India’s first Mono Rail started?
a) Delhi b) Mumbai c) Chennai d) Kolkata

Greodhr SeIfaes IR e HoTar?

a) ¢ SIaRT b) b Tidrer c) R TR d) Y SAHaRT

Which of the following is the World Health Day?
a) 12 January b) 7 April c) 22 April d) 24 January

17
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97.

98.

99.

100.

HRATS IS 0T 3TR?
a) HigFAC gHlG H=any
c) 31. T.ULSN. sqel Felld 3TSilG

Who is the president of India?
a) Mohammad Hamid Ansari

c) Dr. A.P.J. Abul Kalam Azad

LEr3tar aver ol arger?

a) Si.#ATRET b) el &7

Who invented radio?

a) G. Marconi b) Karl Benz
PISSHAT ... T AT 318 ?
a) Feilceh b) 3TYUCer

Kodai Canal is located in ................. state.
a) Karnataka b) Andhrapradesh

sqr o TUIAT SOl dHell?
a) .fad T. RIS

c) S1. TUIS. 3isqel Hhelld 3TSIlG

The ‘ISRO’ was founded by .............
a) Dr.Vikram A. Sarabhai
c) Dr. A.P.J. Abul Kalam Azad

——

b) Pranab Mukherjee
d) None of these

C) 3ehs sAldel  d) IR ATEY

c) Alfred Nobel d) None of these

c) ATy d) HERISE

¢) Tamilnadu d) Maharashtra

b) ST. IS THeT
d) grHY Sf. §meT

b) Dr. Raju Ramanna

d) Homi J. Bhabha

18
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